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show your work

#‘I Length =30 m

Width= 30
Area = 960 m?

32
30 ] 960

90
60

- 60

O

Perimeter= |21 m
30+32+30+32 = 124

MPQ length= 12 m
Width =

Area = 240 m?

Perimeter =

#2 Length= 44 m
Width =

Area = 3,256 m?2

Perimeter =
M4 Length =

7 Width=53 m
Area = 742 m?
Perimeter =

Use this page to organize your work and find the lengths of the missing segments on page 1. Refer to
page 1 for the corresponding rectangle number and solve for the missing length or width using division.

#3 Length= 37 m

Width =

Area = 1,665 m?

Perimeter =

# 8 Length =

Width = 69 m
Area = 1,242 m?

Perimeter =

Area = 242 m?

Perimeter =

#9 Length= 13 m

Width =

Area = 533 m?

Perimeter =

Area = 693 m?2

Perimeter =

Fill out the spaces
with the perimeters
of the 9 rectangu-
lar loops and add
them together. »

-

To find the total length of the trail, you can add up the individual lengths one by one, or you can solve for
the perimeter of each rectangle and find the sum the perimeters. Either way, you will get the same answer!

) Length= 11 m
Width =

Y Length= 21 m
S Width =

124 m

TOTAL »
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